EE5310/EE3002: Analog Circuits
Tutorial 4
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8) The opamp in the circuit shown below is

ideal. Determine Rin.
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Circuit for Problem 8

9) In the circuit shown below, the input voltage
V; =5V + 271 cos(2m-(1kHz)t); Determine V.

The capacitor is very large.
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Circuit for Problem 9
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10) In the circuit shown in the figure below, the
capacitors (Cure) may be assumed to be infinite.
(a) Determine the input impedance Z;, and the
output impedance Z,,.
(b) Determine the overall small-signal voltage

gain v,,/v, for this amplifier.
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Circuit for Problem 10
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